
 MOUNTING INSTRUCTIONS 

   DESCRIPTION

1 

2

3

4

5

6

ID. QTY.

Screen

Special screw M5x17 + interior thread M5x10

Special screw M5x13 + interior thread M5x8

M5x11 ISO 7380 allen screw 

Ø5xØ11x1 nylon washer

Ø ext. 13 x Ø int. 5x4 rubber washer

1

2

2

4

4

4

3

SCREEN ADAPTABLE TO 
KAWASAKI Z1000   ‘10 - ‘13 R Ref.: 5254

21

A -  Original washer

A

A

Screw 4 = 2,5 N.m

1

6

2 2

33

4

5

Puig puts everything within reach. Check out the collection of motorcycle windshields & fairings we offer.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/windshields-fairings.html



